See fuser

Internal components (1 of 3)

ENWW

166 Chapter 8 Parts and diagrams



ENWW

S1
S4
S5
S6

Internal components (1 of 3)

Transfer-roller assembly

Motor, stepping

Power-supply assembly, 110-127 V
Power-supply assembly, 220-240 V
Separation-pad assembly, printer
Panel, rear

Screw, tap M4X10

Screw, with washer M3X6

Screw, rs M3X6

Screw, rs M3X8

RM1-2083-000CN 1
RK2-0799-000CN 1
RM1-3941-000CN 1
RM1-3942—-000CN 1
RL1-0648—-000CN 1
RC1-1985-000CN 1
XB4-5401-009CN 1
XB2-7300-605CN 2
XA9-1495-000CN 5
XA9-1420-000CN 1

Whole unit replacement part

167



